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Vocab Misc Questions Overview

Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Vocab Misc Questions.

Question

In the following questions, a statement is divided into 5 different segments. Part (A) in the sentence is fixed and other parts
may not be in the correct sequence. You have to rearrange the other parts of the sentence to make it contextually and
grammatically correct and if the correct option of the sequence doesn't match any of the given sequence, mark option
5i.e., "None of the above" as your answer. It might not be easily evident, but the daily growth rate of novel Coronavirus
cases has once again been on the decline (A)/ During this same period, the new detection of cases reached a high of over
57,000 before climbing down to a level of just over 52,000 now (B)/ In the last ten days, the daily growth rate, averaged
over 7-day periods, has come down from 3.67 percent to 3.25 percent (C)/ even as the absolute number of new infections
scaled new highs this past week (D)/ What is satisfying is that the growth rate in almost every state, including fast-growing
ones like Andhra Pradesh, Karnataka, and Kerala, has been dropping off in the last few days (E).

Difficulty : Moderate Average Time: 74 Seconds

Options :
1. ADCBE

2. ADBEC
3. ABCDE
4. ABDCE

5. None of the Above

Solution

The correct answer is Option 1 i.e. ADCBE.

e Taking the fixed sentence "A" under consideration, part "D" seems to portray conjunction with the first by stating that
even as the absolute number of new infections scaled new highs this past week.

e Sentence "C" will follow "D" as it shows conjunction with the previous one.

e Further, among the remaining parts "B" and "E", "B" seems to precede "E" as part "E" suggests a rational or
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conclusion for the entire passage by stating about the matter that the growth rate in almost every state, including
fast-growing ones like Andhra Pradesh, Karnataka, and Kerala, has been dropping off in the last few days.
e S0, we got a sequence i.e. ADCBE.

The passage is: It might not be easily evident, but the daily growth rate of novel Coronavirus cases has once again
been on the decline, even as the absolute number of new infections scaled new highs this past week. In the last
ten days, the daily growth rate, averaged over 7-day periods, has come down from 3.67 percent to 3.25 percent.
During this same period, the new detection of cases reached a high of over 57,000 before climbing down to a level
of just over 52,000 now. What is satisfying is that the growth rate in almost every state, including fast-growing
ones like Andhra Pradesh, Karnataka, and Kerala, has been dropping off (see charts below) in the last few days.

Hence, the correct answer is Option 1 i.e. ADCBE.
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